JS≣

CURRENCY DERIVATIVES

CURRENCY FUTURES AND OPTIONS MATCHED TRADES

REPORT FOR 09/10/2014

Johannesburg Stock Exchange

One Exchange Square, Gwen Lane, Sandown, South Africa Private Bag X991174 Sandton 2146

Tel: +27 11 520 7000 Fax: +27 11 520 8584

www.jse.co.za

Registration number: 2005/022939/06

VAT number: 4080119391

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
8:01:45	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	5,000	5,000,000	11.1705		(55,852,500.00) Member	Sell
8:14:31	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	680	680,000	11.2830		(7,672,440.00) Member	Sell
8:16:03	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	840	840,000	11.1730		(9,385,320.00) Member	Sell
8:21:17	\$ / R 16/03/2015	Foreign Exchange Future	0.00	1	1,000	2,000	2,000,000	11.4046		22,809,200.00 Client	Buy
8:21:17	\$ / R 16/03/2015	Foreign Exchange Future	0.00	1	1,000	2,000	2,000,000	11.4046		(22,809,200.00) Member	Sell
8:21:17	\$ / R 16/03/2015	Foreign Exchange Future	0.00	1	1,000	2,000	2,000,000	11.4546		22,909,200.00 Client	Buy
8:21:17	\$ / R 16/03/2015	Foreign Exchange Future	0.00	1	1,000	2,000	2,000,000	11.4546		(22,909,200.00) Member	Sell
8:29:53	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	5,000	5,000,000	11.1705		55,852,500.00 Client	Buy
8:29:53	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	5,000	5,000,000	11.1705		(55,852,500.00) Member	Sell
8:37:26	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	100	100,000	11.2250		(1,122,500.00) Member	Sell
8:39:09	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	680	680,000	11.2830		7,672,440.00 Client	Buy
8:39:09	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	680	680,000	11.2830		(7,672,440.00) Member	Sell
8:39:22	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	840	840,000	11.1730		(9,385,320.00) Member	Sell
8:39:22	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	840	840,000	11.1730		9,385,320.00 Client	Buy
8:40:20	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	1,000	1,000,000	11.1830		11,183,000.00 Member	Buy
8:40:20	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	1,000	1,000,000	11.1830		(11,183,000.00) Member	Sell
8:40:20	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	1,000	1,000,000	11.2390		11,239,000.00 Client	Buy
8:40:20	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	1,000	1,000,000	11.2390		(11,239,000.00) Member	Sell

Page 1 of 17 2014/10/09, 06:08:00PM

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
8:41:01	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	225	225,000	11.1670		2,512,575.00 Member	Buy
8:41:01	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	50	50,000	11.1880		(559,400.00) Member	Sell
8:41:01	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	225	225,000	11.1670		(2,512,575.00) Client	Sell
8:41:01	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	50	50,000	11.1880		559,400.00 Client	Buy
8:49:40	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	1,000	1,000,000	11.1870		(11,187,000.00) Member	Sell
8:58:33	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	200	200,000	11.1675		(2,233,500.00) Member	Sell
8:58:33	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	200	200,000	11.1675		2,233,500.00 Client	Buy
9:00:18	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	5	5,000	11.1750		55,875.00 Client	Buy
9:00:18	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	5	5,000	11.1750		(55,875.00) Member	Sell
9:01:56	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	100	100,000	11.1636		(1,116,360.00) Member	Sell
9:01:56	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	100	100,000	11.1636		1,116,360.00 Client	Buy
9:03:19	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	20	20,000	11.1721		(223,442.00) Member	Sell
9:03:19	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	20	20,000	11.1721		223,442.00 Client	Buy
9:05:01	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	11.1615		(111,615.00) Member	Sell
9:05:02	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	11.1600		(111,600.00) Member	Sell
9:05:02	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	100	100,000	11.1600		(1,116,000.00) Member	Sell
9:05:02	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	11.1600		111,600.00 Client	Buy
9:05:02	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	100	100,000	11.1600		1,116,000.00 Member	Buy
9:07:04	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	50	50,000	11.1700		(558,500.00) Member	Sell
9:07:04	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	50	50,000	11.1700		558,500.00 Client	Buy
9:07:42	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	11.1740		(111,740.00) Member	Sell
9:07:43	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	11.1740		111,740.00 Client	Buy
9:10:01	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	100	100,000	11.2350		(1,123,500.00) Member	Sell
9:10:01	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	100	100,000	11.2350		1,123,500.00 Client	Buy
9:11:21	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	200	200,000	11.1756		(2,235,120.00) Member	Sell
9:11:21	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	200	200,000	11.1756		2,235,120.00 Client	Buy
9:13:14	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	11.1826		(111,826.00) Member	Sell
9:13:14	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	11.1826		111,826.00 Client	Buy
9:18:52	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	60	60,000	11.1899		(671,394.00) Member	Sell
9:18:52	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	60	60,000	11.1899		671,394.00 Client	Buy
9:22:17	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	30	30,000	11.1890		(335,670.00) Member	Sell
9:22:17	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	30	30,000	11.1890		335,670.00 Client	Buy
9:22:22	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	45	45,000	11.1890		(503,505.00) Member	Sell
9:22:22	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	45	45,000	11.1890		503,505.00 Client	Buy
9:23:25	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	50	50,000	11.1890		(559,450.00) Member	Sell
9:23:25	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	50	50,000	11.1890		559,450.00 Client	Buy
9:24:31	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	11.1890		(111,890.00) Member	Sell
9:24:31	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	11.1890		111,890.00 Client	Buy
9:26:49	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	188	188,000	11.1764		2,101,163.20 Member	Buy
9:27:04	\$ / R 12/06/2015	Foreign Exchange Future	0.00	1	1,000	3	3,000	11.5500		34,650.00 Client	Buy
9:27:04	\$ / R 12/06/2015	Foreign Exchange Future	0.00	1	1,000	3	3,000	11.5500		(34,650.00) Client	Sell
9:29:09	\$ / R 12/06/2015	Foreign Exchange Future	0.00	1	1,000	106	106,000	11.5410		1,223,346.00 Member	Buy
9:29:09	\$ / R 12/06/2015	Foreign Exchange Future	0.00	1	1,000	106	106,000	11.5410		(1,223,346.00) Client	Sell

Page 2 of 17 2014/10/09, 06:08:00PM

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
9:29:15	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	5	5,000	11.1755		(55,877.50) Member	Sell
9:29:29	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	200	200,000	11.1725		(2,234,500.00) Member	Sell
9:29:29	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	200	200,000	11.1725		2,234,500.00 Member	Buy
9:32:35	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	11.1700		(111,700.00) Member	Sell
9:36:28	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	25	25,000	11.1650		(279,125.00) Member	Sell
9:36:28	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	75	75,000	11.1367		835,252.50 Client	Buy
9:38:28	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	11.1601		(111,601.00) Member	Sell
9:38:28	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	20	20,000	11.1600		(223,200.00) Member	Sell
9:38:28	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	20	20,000	11.1600		223,200.00 Client	Buy
9:38:28	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	11.1601		111,601.00 Client	Buy
9:39:35	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	20	20,000	11.1625		(223,250.00) Member	Sell
9:39:35	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	20	20,000	11.1625		223,250.00 Client	Buy
9:40:01	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	100	100,000	11.1625		(1,116,250.00) Member	Sell
9:40:01	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	100	100,000	11.1625		1,116,250.00 Client	Buy
9:40:45	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	5	5,000	11.1625		(55,812.50) Member	Sell
9:40:45	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	5	5,000	11.1625		55,812.50 Client	Buy
9:40:45	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	11.1625		(111,625.00) Client	Sell
9:40:45	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	11.1625		111,625.00 Client	Buy
9:40:57	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	1	1,000	11.1625		(11,162.50) Member	Sell
9:40:57	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	1	1,000	11.1625		11,162.50 Client	Buy
9:42:46	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	5	5,000	11.1570		(55,785.00) Member	Sell
9:43:20	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	20	20,000	11.1501		(223,002.00) Member	Sell
9:43:20	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	11.1505		(111,505.00) Member	Sell
9:43:20	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	20	20,000	11.1501		223,002.00 Client	Buy
9:43:30	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	100	100,000	11.1500		(1,115,000.00) Member	Sell
9:43:30	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	100	100,000	11.1500		1,115,000.00 Client	Buy
9:45:56	\$ / R 12/06/2015	Foreign Exchange Future	P 11.60	1	1,000	2,000	2,000,000	475.2000		950,400,000.00 Member	Buy
9:45:56	\$ / R 16/03/2015	Foreign Exchange Future	C 11.85	1	1,000	1,000	1,000,000	194.1000		(194,100,000.00) Member	Sell
9:45:56	\$ / R 16/03/2015	Foreign Exchange Future	P 11.30	1	1,000	1,500	1,500,000	304.0200		456,030,000.00 Member	Buy
9:46:00	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	26	26,000	11.1480		289,848.00 Client	Buy
9:46:00	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	26	26,000	11.1480		(289,848.00) Client	Sell
9:47:03	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	174	174,000	11.1480		(1,939,752.00) Member	Sell
9:47:03	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	174	174,000	11.1480		1,939,752.00 Client	Buy
9:49:09	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	1,000	1,000,000	11.1380		(11,138,000.00) Member	Sell
9:49:09	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	1,000	1,000,000	11.1380		11,138,000.00 Client	Buy
9:49:41	\$ / R 12/06/2015	Foreign Exchange Future	P 11.60	1	1,000	2,000	2,000,000	475.2000		(950,400,000.00) Client	Sell
9:49:41	\$ / R 12/06/2015	Foreign Exchange Future	P 11.60	1	1,000	2,000	2,000,000	475.2000		950,400,000.00 Member	Buy
9:49:55	\$ / R 16/03/2015	Foreign Exchange Future	P 11.30	1	1,000	1,500	1,500,000	304.0200		(456,030,000.00) Client	Sell
9:49:55	\$ / R 16/03/2015	Foreign Exchange Future	P 11.30	1	1,000	1,500	1,500,000	304.0200		456,030,000.00 Member	Buy
9:51:13	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	11.1454		(111,454.00) Member	Sell
9:51:40	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	11.1500		(111,500.00) Member	Sell
9:54:52	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	11.1405		(111,405.00) Member	Sell
9:55:32	\$ / R 12/06/2015	Foreign Exchange Future	P 10.75	1	1,000	15,000	15,000,000	110.4700		1,657,050,000.00 Member	Buy

Page 3 of 17 2014/10/09, 06:08:00PM

Matched Time	Contract Details	Product	Call/ Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
9:55:32	\$ / R 12/06/2015	Foreign Exchange Future	Р	11.00	1	1,000	15,000	15,000,000	195.6100		(2,934,150,000.00) Member	Sell
9:57:03	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	10	10,000	11.1370		(111,370.00) Member	Sell
9:57:33	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	500	500,000	11.1660		(5,583,000.00) Member	Sell
9:57:33	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	25,000	25,000,000	11.1780		(279,450,000.00) Member	Sell
9:57:38	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	18	18,000	11.1364		(200,455.20) Member	Sell
9:57:54	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	5	5,000	11.1325		(55,662.50) Member	Sell
9:57:54	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	25	25,000	11.1330		(278,325.00) Member	Sell
9:57:54	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	5	5,000	11.1325		55,662.50 Client	Buy
9:59:10	\$ / R 16/03/2015	Foreign Exchange Future	С	11.85	1	1,000	1,000	1,000,000	194.1000		194,100,000.00 Client	Buy
9:59:10	\$ / R 16/03/2015	Foreign Exchange Future	С	11.85	1	1,000	1,000	1,000,000	194.1000		(194,100,000.00) Member	Sell
10:00:09	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	2	2,000	11.1285		(22,257.00) Client	Sell
10:03:27	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	10	10,000	11.1389		(111,389.00) Member	Sell
10:05:38	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	5,000	5,000,000	11.1875		(55,937,500.00) Member	Sell
10:05:38	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	11.1875		(11,187,500.00) Member	Sell
10:06:53	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	2,000	2,000,000	11.3205		(22,641,000.00) Member	Sell
10:06:53	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	2,000	2,000,000	11.3205		22,641,000.00 Client	Buy
10:08:52	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	10	10,000	11.1409		(111,409.00) Member	Sell
10:10:48	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	10	10,000	11.1440		(111,440.00) Member	Sell
10:11:22	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	10	10,000	11.1447		(111,447.00) Member	Sell
10:11:29	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	5	5,000	11.1441		55,720.50 Client	Buy
10:11:55	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	1,500	1,500,000	11.1477		(16,721,550.00) Member	Sell
10:12:02	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	11.1875		11,187,500.00 Client	Buy
10:12:02	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	11.1875		(11,187,500.00) Member	Sell
10:12:33	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	25	25,000	11.1677		(279,192.50) Member	Sell
10:12:33	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	25	25,000	11.1677		279,192.50 Client	Buy
10:12:42	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	5	5,000	11.1570		55,785.00 Client	Buy
10:12:42	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	5	5,000	11.1570		(55,785.00) Member	Sell
10:14:12	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	100	100,000	11.1465		1,114,650.00 Client	Buy
10:14:12	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	100	100,000	11.1465		(1,114,650.00) Member	Sell
10:14:33	\$ / R 12/06/2015	Foreign Exchange Future		0.00	1	1,000	10	10,000	11.5173		(115,173.00) Member	Sell
10:14:33	\$ / R 12/06/2015	Foreign Exchange Future		0.00	1	1,000	10	10,000	11.5173		115,173.00 Client	Buy
10:18:04	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	5	5,000	11.3300		56,650.00 Client	Buy
10:18:04	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	5	5,000	11.3300		(56,650.00) Member	Sell
10:18:39	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	5	5,000	11.1410		55,705.00 Client	Buy
10:18:39	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	5	5,000	11.1410		(55,705.00) Member	Sell
10:18:39	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	10	10,000	11.1409		(111,409.00) Member	Sell
10:19:27	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	17	17,000	11.1373		(189,334.10) Member	Sell
10:19:27	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	17	17,000	11.1373		(189,334.10) Member	Sell
10:19:27	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	6	6,000	11.1373		(66,823.80) Member	Sell
10:19:27	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	17	17,000	11.1373		189,334.10 Client	Buy
10:19:27	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	6	6,000	11.1373		66,823.80 Client	Buy
10:19:27	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	17	17,000	11.1373		189,334.10 Client	Buy
10:19:39	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	50	50,000	11.1451		557,255.00 Client	Buy

Page 4 of 17 2014/10/09, 06:08:00PM

Matched Time	Contract Details	Product	Call/ Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
10:19:39	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	50	50,000	11.1451		(557,255.00) Member	Sell
10:20:53	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	5,000	5,000,000	11.1875		(55,937,500.00) Member	Sell
10:20:53	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	5,000	5,000,000	11.1875		55,937,500.00 Client	Buy
10:21:58	\$ / R 12/06/2015	Foreign Exchange Future	С	13.00	1	1,000	10,000	10,000,000	189.1100		1,891,100,000.00 Member	Buy
10:21:58	\$ / R 12/06/2015	Foreign Exchange Future	Р	11.00	1	1,000	10,000	10,000,000	140.3600		(1,403,600,000.00) Member	Sell
10:21:58	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	5,500	5,500,000	11.3733		(62,553,150.00) Member	Sell
10:28:19	\$ / R 12/06/2015	Foreign Exchange Future		0.00	1	1,000	10	10,000	11.5176		(115,176.00) Member	Sell
10:28:19	\$ / R 12/06/2015	Foreign Exchange Future		0.00	1	1,000	10	10,000	11.5176		115,176.00 Client	Buy
10:34:26	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	17	17,000	11.1370		(189,329.00) Member	Sell
10:34:26	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	17	17,000	11.1370		189,329.00 Client	Buy
10:35:11	\$ / R 12/06/2015	Foreign Exchange Future		0.00	1	1,000	10	10,000	11.5100		115,100.00 Member	Buy
10:35:11	\$ / R 12/06/2015	Foreign Exchange Future		0.00	1	1,000	10	10,000	11.5100		(115,100.00) Member	Sell
10:40:43	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	5	5,000	11.1420		55,710.00 Member	Buy
10:40:43	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	5	5,000	11.1420		(55,710.00) Client	Sell
10:42:25	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	5	5,000	11.1439		(55,719.50) Member	Sell
10:42:25	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	5	5,000	11.1439		55,719.50 Client	Buy
10:42:46	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	500	500,000	11.1441		(5,572,050.00) Member	Sell
10:44:39	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	500	500,000	11.1473		(5,573,650.00) Member	Sell
10:45:36	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	50	50,000	11.1451		(557,255.00) Member	Sell
10:45:36	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	50	50,000	11.1451		557,255.00 Client	Buy
10:46:40	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	3	3,000	11.1426		33,427.80 Client	Buy
10:46:40	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	3	3,000	11.1426		(33,427.80) Member	Sell
10:49:11	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	15,000	15,000,000	11.1374		(167,061,000.00) Member	Sell
10:50:16	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	50	50,000	11.1390		(556,950.00) Member	Sell
10:50:16	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	50	50,000	11.1390		556,950.00 Member	Buy
10:50:24	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	20	20,000	11.1350		(222,700.00) Member	Sell
10:50:24	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	20	20,000	11.1350		222,700.00 Client	Buy
10:50:30	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	10	10,000	11.1325		(111,325.00) Client	Sell
10:50:44	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	30	30,000	11.1302		333,906.00 Member	Buy
10:50:44	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	10	10,000	11.1309		111,309.00 Client	Buy
10:50:44	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	30	30,000	11.1302		(333,906.00) Client	Sell
10:50:44	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	10	10,000	11.1309		(111,309.00) Client	Sell
10:53:40	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	79	79,000	11.1316		879,396.40 Member	Buy
10:53:40	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	79	79,000	11.1316		(879,396.40) Client	Sell
10:54:31	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	10	10,000	11.1351		111,351.00 Client	Buy
10:54:31	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	10	10,000	11.1351		(111,351.00) Member	Sell
10:56:18	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	5	5,000	11.1351		55,675.50 Client	Buy
10:56:18	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	5	5,000	11.1351		(55,675.50) Member	Sell
10:56:28	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	5	5,000	11.1300		(55,650.00) Member	Sell
10:56:28	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	5	5,000	11.1300		55,650.00 Client	Buy
10:58:26	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	10	10,000	11.1350		111,350.00 Client	Buy
10:58:26	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	10	10,000	11.1350		(111,350.00) Member	Sell
11:08:37	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	1	1,000	11.1410		11,141.00 Client	Buy

Page 5 of 17 2014/10/09, 06:08:00PM

Matched Time	Contract Details	Product	Call/ Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
11:09:40	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	50	50,000	11.1360		556,800.00 Client	Buy
11:09:40	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	50	50,000	11.1360		(556,800.00) Member	Sell
11:21:54	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	2	2,000	11.1509		(22,301.80) Member	Sell
11:21:54	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	2	2,000	11.1509		22,301.80 Client	Buy
11:27:20	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	6,000	6,000,000	11.1830		(67,098,000.00) Member	Sell
11:30:11	\$ / R 12/06/2015	Foreign Exchange Future	Р	11.00	1	1,000	4,542	4,542,000	140.3600		637,515,120.00 Client	Buy
11:30:11	\$ / R 12/06/2015	Foreign Exchange Future	Р	11.00	1	1,000	1,803	1,803,000	140.3600		(253,069,080.00) Member	Sell
11:30:11	\$ / R 12/06/2015	Foreign Exchange Future	Р	11.00	1	1,000	1,803	1,803,000	140.3600		253,069,080.00 Client	Buy
11:30:11	\$ / R 12/06/2015	Foreign Exchange Future	Р	11.00	1	1,000	3,458	3,458,000	140.3600		485,364,880.00 Client	Buy
11:30:11	\$ / R 12/06/2015	Foreign Exchange Future	Р	11.00	1	1,000	3,458	3,458,000	140.3600		(485,364,880.00) Member	Sell
11:30:11	\$ / R 12/06/2015	Foreign Exchange Future	Р	11.00	1	1,000	197	197,000	140.3600		(27,650,920.00) Member	Sell
11:30:11	\$ / R 12/06/2015	Foreign Exchange Future	Р	11.00	1	1,000	4,542	4,542,000	140.3600		(637,515,120.00) Member	Sell
11:30:11	\$ / R 12/06/2015	Foreign Exchange Future	Р	11.00	1	1,000	197	197,000	140.3600		27,650,920.00 Client	Buy
11:31:28	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	100	100,000	11.1373		(1,113,730.00) Member	Sell
11:31:28	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	100	100,000	11.1373		1,113,730.00 Client	Buy
11:31:56	\$ / R 12/06/2015	Foreign Exchange Future	С	13.00	1	1,000	3,458	3,458,000	189.1100		(653,942,380.00) Client	Sell
11:31:56	\$ / R 12/06/2015	Foreign Exchange Future	С	13.00	1	1,000	1,803	1,803,000	189.1100		(340,965,330.00) Client	Sell
11:31:56	\$ / R 12/06/2015	Foreign Exchange Future	С	13.00	1	1,000	3,458	3,458,000	189.1100		653,942,380.00 Member	Buy
11:31:56	\$ / R 12/06/2015	Foreign Exchange Future	С	13.00	1	1,000	4,542	4,542,000	189.1100		858,937,620.00 Member	Buy
11:31:56	\$ / R 12/06/2015	Foreign Exchange Future	С	13.00	1	1,000	197	197,000	189.1100		(37,254,670.00) Client	Sell
11:31:56	\$ / R 12/06/2015	Foreign Exchange Future	С	13.00	1	1,000	1,803	1,803,000	189.1100		340,965,330.00 Member	Buy
11:31:56	\$ / R 12/06/2015	Foreign Exchange Future	С	13.00	1	1,000	197	197,000	189.1100		37,254,670.00 Member	Buy
11:31:56	\$ / R 12/06/2015	Foreign Exchange Future	С	13.00	1	1,000	4,542	4,542,000	189.1100		(858,937,620.00) Client	Sell
11:32:57	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	2,498	2,498,000	11.3733		(28,410,503.40) Member	Sell
11:32:57	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	992	992,000	11.3733		11,282,313.60 Client	Buy
11:32:57	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	108	108,000	11.3733		(1,228,316.40) Member	Sell
11:32:57	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	108	108,000	11.3733		1,228,316.40 Client	Buy
11:32:57	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	992	992,000	11.3733		(11,282,313.60) Member	Sell
11:32:57	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	1,902	1,902,000	11.3733		21,632,016.60 Client	Buy
11:32:57	\$ / R 12/12/2014 \$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	2,498	2,498,000	11.3733		28,410,503.40 Client	Buy
11:32:57	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	1,902	1,902,000	11.3733		(21,632,016.60) Member	Sell
11:33:47	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	10	10,000	11.1300		111,300.00 Client	Buy
11:33:47	\$ / R 12/12/2014 \$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	10	10,000	11.1300		111,300.00 Client	Buy
11:33:47	\$ / R 12/12/2014 \$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	5	5,000	11.1300		55,650.00 Client	Buy
11:33:47	\$ / R 12/12/2014 \$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	15	15,000	11.1300		166,950.00 Member	Buy
	\$ / R 12/12/2014 \$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000		5,000	11.1300		(55,650.00) Member	
11:33:47		•			1		5				, ,	Sell
11:33:47	\$ / R 12/12/2014 \$ / B 12/12/2014	Foreign Exchange Future		0.00	1	1,000	15 10	15,000	11.1300		(166,950.00) Member	Sell
11:33:47	\$ / R 12/12/2014 \$ / B 12/12/2014	Foreign Exchange Future		0.00	1	1,000	10	10,000	11.1300		(111,300.00) Member	Sell
11:33:47	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	10	10,000	11.1300		(111,300.00) Member	Sell
11:34:40	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	8	8,000	11.1285		(89,028.00) Member	Sell
11:34:44	\$ / R 12/06/2015	Foreign Exchange Future		0.00	1	1,000	10	10,000	11.5000		(115,000.00) Member	Sell
11:34:44	\$ / R 12/06/2015	Foreign Exchange Future		0.00	1	1,000	3	3,000	11.5000		(34,500.00) Member	Sell
11:34:44	\$ / R 12/06/2015	Foreign Exchange Future		0.00	1	1,000	3	3,000	11.5000		34,500.00 Client	Buy

Page 6 of 17 2014/10/09, 06:08:00PM

Matched Time	Contract Details	Product	Call/ S	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
11:34:44	\$ / R 12/06/2015	Foreign Exchange Future		0.00	1	1,000	10	10,000	11.5000		115,000.00 Client	Buy
11:38:54	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	7	7,000	11.1255		(77,878.50) Member	Sell
11:38:59	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	5	5,000	11.3100		56,550.00 Client	Buy
11:38:59	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	5	5,000	11.3100		(56,550.00) Member	Sell
11:39:14	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	5	5,000	11.1200		55,600.00 Client	Buy
11:39:14	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	5	5,000	11.1200		(55,600.00) Member	Sell
11:39:14	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	100	100,000	11.1200		(1,112,000.00) Member	Sell
11:39:14	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	100	100,000	11.1200		1,112,000.00 Client	Buy
11:39:35	\$ / R 12/06/2015	Foreign Exchange Future		0.00	1	1,000	10	10,000	11.4900		(114,900.00) Member	Sell
11:39:35	\$ / R 12/06/2015	Foreign Exchange Future		0.00	1	1,000	50	50,000	11.4900		(574,500.00) Member	Sell
11:39:35	\$ / R 12/06/2015	Foreign Exchange Future		0.00	1	1,000	10	10,000	11.4900		114,900.00 Client	Buy
11:39:35	\$ / R 12/06/2015	Foreign Exchange Future		0.00	1	1,000	50	50,000	11.4900		574,500.00 Client	Buy
11:48:08	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	25	25,000	11.1300		278,250.00 Member	Buy
11:48:08	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	25	25,000	11.1300		(278,250.00) Client	Sell
11:56:55	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	3,000	3,000,000	11.1830		33,549,000.00 Client	Buy
11:56:55	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	3,000	3,000,000	11.1830		33,549,000.00 Client	Buy
12:04:24	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	256	256,000	11.1315		(2,849,664.00) Member	Sell
12:04:24	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	256	256,000	11.1315		2,849,664.00 Client	Buy
12:04:41	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	33	33,000	11.1315		(367,339.50) Member	Sell
12:04:53	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	100	100,000	11.1339		(1,113,390.00) Member	Sell
12:04:53	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	100	100,000	11.1339		1,113,390.00 Client	Buy
12:06:50	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	10	10,000	11.1217		(111,217.00) Member	Sell
12:06:50	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	10	10,000	11.1217		111,217.00 Client	Buy
12:10:50	\$ / R 12/12/2014	Foreign Exchange Future	С	11.13	1	1,000	5,000	5,000,000	199.2300		(996,150,000.00) Member	Sell
12:12:51	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	10	10,000	11.1174		(111,174.00) Member	Sell
12:13:55	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	10	10,000	11.1274		(111,274.00) Member	Sell
12:13:55	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	10	10,000	11.1274		111,274.00 Client	Buy
12:14:40	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	50	50,000	11.1150		555,750.00 Client	Buy
12:14:40	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	50	50,000	11.1150		(555,750.00) Member	Sell
12:14:40	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	50	50,000	11.1150		(555,750.00) Member	Sell
12:15:10	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	25	25,000	11.1120		(277,800.00) Member	Sell
12:15:16	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	16	16,000	11.1111		(177,777.60) Member	Sell
12:15:16	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	111	111,000	11.1111		(1,233,332.10) Member	Sell
12:15:16	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	16	16,000	11.1111		177,777.60 Client	Buy
12:16:19	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	50	50,000	11.1061		(555,305.00) Member	Sell
12:16:19	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	100	100,000	11.1106		1,111,060.00 Client	Buy
12:17:32	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	5	5,000	11.2900		(56,450.00) Member	Sell
12:17:32	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	5	5,000	11.2900		56,450.00 Client	Buy
12:21:41	\$ / R 12/12/2014	Foreign Exchange Future	С	11.13	1	1,000	5,000	5,000,000	204.2300		1,021,150,000.00 Member	Buy
12:21:41	\$ / R 12/12/2014	Foreign Exchange Future	С	11.13	1	1,000	5,000	5,000,000	204.2300		(1,021,150,000.00) Member	Sell
12:26:50	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	20	20,000	11.1105		(222,210.00) Client	Sell
12:28:25	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	5	5,000	11.1084		55,542.00 Member	Buy
12:28:25	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	5	5,000	11.1084		(55,542.00) Client	Sell

Page 7 of 17 2014/10/09, 06:08:00PM

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
12:29:50	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	25	25,000	11.1154		277,885.00 Client	Buy
12:29:50	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	25	25,000	11.1154		(277,885.00) Member	Sell
12:30:13	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	100	100,000	11.1146		1,111,460.00 Client	Buy
12:30:13	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	100	100,000	11.1146		(1,111,460.00) Member	Sell
12:30:42	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	15	15,000	11.1432		167,148.00 Client	Buy
12:30:42	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	15	15,000	11.1432		(167,148.00) Member	Sell
12:30:42	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	15	15,000	11.1432		167,148.00 Client	Buy
12:30:42	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	15	15,000	11.1432		(167,148.00) Member	Sell
12:31:43	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	1,000	1,000,000	11.1155		11,115,500.00 Member	Buy
12:31:43	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	1,000	1,000,000	11.1155		(11,115,500.00) Member	Sell
12:33:01	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	15	15,000	11.1293		(166,939.50) Member	Sell
12:33:01	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	11.1293		(111,293.00) Member	Sell
12:33:01	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	11.1293		111,293.00 Client	Buy
12:33:01	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	15	15,000	11.1293		166,939.50 Client	Buy
12:36:27	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	11.1131		(111,131.00) Member	Sell
12:37:32	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	11.1090		111,090.00 Member	Buy
12:37:32	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	11.1105		(111,105.00) Member	Sell
12:37:32	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	11.1090		(111,090.00) Member	Sell
12:37:35	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	20	20,000	11.1075		(222,150.00) Member	Sell
12:37:35	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	20	20,000	11.1075		222,150.00 Client	Buy
12:38:06	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	11.1000		111,000.00 Client	Buy
12:38:06	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	5	5,000	11.1000		55,500.00 Client	Buy
12:38:06	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	11.1000		(111,000.00) Member	Sell
12:38:06	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	188	188,000	11.1000		(2,086,800.00) Member	Sell
12:38:06	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	5	5,000	11.1000		(55,500.00) Member	Sell
12:38:50	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	11.0979		110,979.00 Client	Buy
12:38:50	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	11.0979		(110,979.00) Member	Sell
12:51:18	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	45	45,000	11.1065		(499,792.50) Client	Sell
12:51:18	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	45	45,000	11.1065		499,792.50 Member	Buy
12:51:37	\$ / R 12/12/2014	Foreign Exchange Future	C 11.13	1	1,000	150	150,000	204.2300		(30,634,500.00) Member	Sell
12:51:37	\$ / R 12/12/2014	Foreign Exchange Future	C 11.13	1	1,000	1,400	1,400,000	204.2300		(285,922,000.00) Member	Sell
12:51:37	\$ / R 12/12/2014	Foreign Exchange Future	C 11.13	1	1,000	950	950,000	204.2300		(194,018,500.00) Member	Sell
12:51:37	\$ / R 12/12/2014	Foreign Exchange Future	C 11.13	1	1,000	2,500	2,500,000	204.2300		(510,575,000.00) Member	Sell
12:51:37	\$ / R 12/12/2014	Foreign Exchange Future	C 11.13	1	1,000	950	950,000	204.2300		194,018,500.00 Client	Buy
12:51:37	\$ / R 12/12/2014	Foreign Exchange Future	C 11.13	1	1,000	2,500	2,500,000	204.2300		510,575,000.00 Client	Buy
12:51:37	\$ / R 12/12/2014	Foreign Exchange Future	C 11.13	1	1,000	1,400	1,400,000	204.2300		285,922,000.00 Client	Buy
12:51:37	\$ / R 12/12/2014	Foreign Exchange Future	C 11.13	1	1,000	150	150,000	204.2300		30,634,500.00 Client	Buy
12:53:57	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	11.1118		(111,118.00) Member	Sell
12:53:57	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	11.1118		111,118.00 Client	Buy
12:57:31	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	5	5,000	11.1105		55,552.50 Client	Buy
12:57:31	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	5	5,000	11.1105		(55,552.50) Member	Sell
13:00:51	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	100	100,000	11.1050		(1,110,500.00) Member	Sell
13:00:51	\$ / R 12/12/2014	Foreign Exchange Future	0.00) 1	1,000	100	100,000	11.1050		1,110,500.00 Client	Buy

Page 8 of 17 2014/10/09, 06:08:00PM

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
13:03:56	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	25	25,000	11.1000		277,500.00 Client	Buy
13:03:56	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	25	25,000	11.1000		(277,500.00) Member	Sell
13:05:04	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	150	150,000	11.1000		(1,665,000.00) Member	Sell
13:05:04	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	150	150,000	11.1000		1,665,000.00 Client	Buy
13:07:49	\$ / R 16/03/2015	Foreign Exchange Future	0.00	1	1,000	4	4,000	11.2780		(45,112.00) Member	Sell
13:07:49	\$ / R 16/03/2015	Foreign Exchange Future	0.00	1	1,000	4	4,000	11.2780		45,112.00 Member	Buy
13:07:49	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	3	3,000	11.0995		(33,298.50) Member	Sell
13:07:49	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	1	1,000	11.0995		(11,099.50) Member	Sell
13:07:49	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	1	1,000	11.0995		11,099.50 Client	Buy
13:07:49	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	3	3,000	11.0995		33,298.50 Client	Buy
13:07:55	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	8	8,000	11.0933		(88,746.40) Member	Sell
13:07:55	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	8	8,000	11.0933		88,746.40 Client	Buy
13:14:39	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	2,000	2,000,000	11.1764		(22,352,800.00) Member	Sell
13:15:31	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	1,000	1,000,000	11.0815		11,081,500.00 Member	Buy
13:15:31	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	1,000	1,000,000	11.0815		(11,081,500.00) Member	Sell
13:16:46	\$ / R 16/03/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	11.2705		(112,705.00) Member	Sell
13:16:46	\$ / R 16/03/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	11.2705		112,705.00 Member	Buy
13:16:46	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	11.0925		(110,925.00) Member	Sell
13:18:23	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	50	50,000	11.0878		554,390.00 Client	Buy
13:18:23	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	50	50,000	11.0878		(554,390.00) Member	Sell
13:27:48	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	5	5,000	11.0971		(55,485.50) Member	Sell
13:31:17	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	201	201,000	11.1174		(2,234,597.40) Member	Sell
13:33:38	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	40	40,000	11.1053		444,212.00 Client	Buy
13:33:38	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	40	40,000	11.1053		(444,212.00) Member	Sell
13:34:28	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	278	278,000	11.1030		(3,086,634.00) Member	Sell
13:37:21	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	11.1112		111,112.00 Client	Buy
13:37:21	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	25	25,000	11.1112		277,780.00 Client	Buy
13:37:21	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	5	5,000	11.1112		55,556.00 Client	Buy
13:37:21	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	5	5,000	11.1112		(55,556.00) Member	Sell
13:37:21	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	11.1112		(111,112.00) Member	Sell
13:37:21	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	25	25,000	11.1112		(277,780.00) Member	Sell
13:38:15	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	11.0940		110,940.00 Client	Buy
13:38:15	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	11.0940		(110,940.00) Member	Sell
13:38:15	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	5	5,000	11.0940		(55,470.00) Member	Sell
13:38:15	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	5	5,000	11.0940		55,470.00 Client	Buy
13:38:31	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	500	500,000	11.0980		5,549,000.00 Member	Buy
13:38:31	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	500	500,000	11.0980		(5,549,000.00) Member	Sell
13:41:05	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	5	5,000	11.1076		55,538.00 Client	Buy
13:41:05	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	5	5,000	11.1076		(55,538.00) Member	Sell
13:48:20	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	278	278,000	11.1030		(3,086,634.00) Member	Sell
13:48:20	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	278	278,000	11.1030		3,086,634.00 Client	Buy
13:51:09	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	201	201,000	11.1264		2,236,406.40 Client	Buy
13:51:09	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	201	201,000	11.1264		(2,236,406.40) Member	Sell

Page 9 of 17 2014/10/09, 06:08:00PM

Matched Time	Contract Details	Product	Call/ Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
			ı uı		iiaues	Value		Nomina	11100	Nate	Турс	
13:58:24	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	10	10,000	11.1148		(111,148.00) Member	Sell
13:58:24	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	10	10,000	11.2933		112,933.00 Member	Buy
13:58:24	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	10	10,000	11.2933		(112,933.00) Member	Sell
13:59:42	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	10	10,000	11.1248		(111,248.00) Member	Sell
13:59:42	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	10	10,000	11.1248		111,248.00 Client	Buy
14:13:30	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	188	188,000	11.1764		(2,101,163.20) Client	Sell
14:13:38	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	188	188,000	11.1000		(2,086,800.00) Member	Sell
14:13:38	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	188	188,000	11.1000		2,086,800.00 Client	Buy
14:29:02	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	11.1335		11,133,500.00 Client	Buy
14:29:02	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	11.1335		(11,133,500.00) Member	Sell
14:43:44	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	18	18,000	11.1500		200,700.00 Member	Buy
14:43:44	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	1	1,000	11.1500		11,150.00 Member	Buy
14:43:44	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	1	1,000	11.1500		(11,150.00) Client	Sell
14:43:44	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	18	18,000	11.1500		(200,700.00) Client	Sell
14:44:42	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	15	15,000	11.1593		167,389.50 Client	Buy
14:44:42	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	15	15,000	11.1593		(167,389.50) Member	Sell
14:44:52	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	35	35,000	11.1587		(390,554.50) Member	Sell
14:44:52	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	35	35,000	11.1587		390,554.50 Client	Buy
14:46:14	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	149	149,000	11.1454		1,660,664.60 Member	Buy
14:46:15	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	351	351,000	11.1452		3,911,965.20 Member	Buy
14:47:34	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	500	500,000	11.1383		(5,569,150.00) Client	Sell
14:56:44	\$ / R 12/06/2015	Foreign Exchange Future	Р	11.00	1	1,000	10,000	10,000,000	204.0200		(2,040,200,000.00) Member	Sell
14:56:44	\$ / R 12/06/2015	Foreign Exchange Future	С	13.00	1	1,000	10,000	10,000,000	159.6700		1,596,700,000.00 Member	Buy
14:57:13	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	40	40,000	11.1470		(445,880.00) Member	Sell
14:57:13	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	40	40,000	11.1470		445,880.00 Client	Buy
15:02:46	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	5	5,000	11.1500		55,750.00 Client	Buy
15:02:46	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	5	5,000	11.1500		(55,750.00) Client	Sell
15:09:04	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	40	40,000	11.1440		(445,760.00) Member	Sell
15:09:04	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	40	40,000	11.1440		445,760.00 Client	Buy
15:13:47	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	50	50,000	11.1463		(557,315.00) Member	Sell
15:13:47	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	50	50,000	11.1463		557,315.00 Client	Buy
15:14:27	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	500	500,000	11.1764		(5,588,200.00) Member	Sell
15:14:27	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	346	346,000	11.1764		3,867,034.40 Client	Buy
15:14:27	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	500	500,000	11.1764		(5,588,200.00) Member	Sell
15:14:27	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	20	20,000	11.1764		223,528.00 Client	Buy
15:14:27	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	180	180,000	11.1764		2,011,752.00 Client	Buy
15:14:27	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	180	180,000	11.1764		(2,011,752.00) Member	Sell
15:14:27	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	454	454,000	11.1764		5,074,085.60 Client	Buy
15:14:27	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	346	346,000	11.1764		(3,867,034.40) Member	Sell
15:14:27	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	500	500,000	11.1764		5,588,200.00 Client	Buy
15:14:27	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	500	500,000	11.1764		5,588,200.00 Client	Buy
15:14:27	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	454	454,000	11.1764		(5,074,085.60) Member	Sell
15:14:27	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	20	20,000	11.1764		(223,528.00) Member	Sell

Page 10 of 17 2014/10/09, 06:08:00PM

Matched Time	Contract Details	Product	Call/ Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
15:19:52	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	20	20,000	11.1500		223,000.00 Member	Buy
15:19:52	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	20	20,000	11.1500		(223,000.00) Client	Sell
15:22:23	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	289	289,000	11.1600		3,225,240.00 Member	Buy
15:22:23	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	4	4,000	11.1600		44,640.00 Member	Buy
15:22:23	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	289	289,000	11.1600		(3,225,240.00) Client	Sell
15:22:23	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	4	4,000	11.1600		(44,640.00) Client	Sell
15:33:23	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	50	50,000	11.1810		(559,050.00) Member	Sell
15:33:23	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	500	500,000	11.1675		5,583,750.00 Client	Buy
15:33:26	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	450	450,000	11.1660		(5,024,700.00) Member	Sell
15:38:11	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	460	460,000	11.0980		(5,105,080.00) Client	Sell
15:38:11	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	360	360,000	11.0980		3,995,280.00 Member	Buy
15:38:11	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	460	460,000	11.0980		5,105,080.00 Member	Buy
15:38:11	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	360	360,000	11.0980		(3,995,280.00) Client	Sell
15:40:26	\$ / R 12/06/2015	Foreign Exchange Future	Р	11.00	1	1,000	15,000	15,000,000	206.0000		(3,090,000,000.00) Member	Sell
15:40:36	\$ / R 12/06/2015	Foreign Exchange Future	Р	10.75	1	1,000	15,000	15,000,000	110.0000		1,650,000,000.00 Member	Buy
15:40:46	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	1,500	1,500,000	11.1477		(16,721,550.00) Member	Sell
15:42:01	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	5	5,000	11.1560		(55,780.00) Client	Sell
15:42:01	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	5	5,000	11.1560		55,780.00 Client	Buy
15:44:29	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	145	145,000	11.1560		(1,617,620.00) Member	Sell
15:44:29	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	145	145,000	11.1560		1,617,620.00 Client	Buy
15:46:22	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	15	15,000	11.1455		(167,182.50) Client	Sell
15:53:55	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	100	100,000	11.1415		(1,114,150.00) Member	Sell
15:53:55	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	100	100,000	11.1415		1,114,150.00 Client	Buy
16:00:03	\$ / R 12/06/2015	Foreign Exchange Future	Р	11.00	1	1,000	92	92,000	206.0000		18,952,000.00 Client	Buy
16:00:03	\$ / R 12/06/2015	Foreign Exchange Future	Р	11.00	1	1,000	4,150	4,150,000	206.0000		854,900,000.00 Client	Buy
16:00:03	\$ / R 12/06/2015	Foreign Exchange Future	Р	11.00	1	1,000	5,450	5,450,000	206.0000		(1,122,700,000.00) Member	Sell
16:00:03	\$ / R 12/06/2015	Foreign Exchange Future	Р	11.00	1	1,000	4,150	4,150,000	206.0000		(854,900,000.00) Member	Sell
16:00:03	\$ / R 12/06/2015	Foreign Exchange Future	Р	11.00	1	1,000	2,163	2,163,000	206.0000		445,578,000.00 Client	Buy
16:00:03	\$ / R 12/06/2015	Foreign Exchange Future	Р	11.00	1	1,000	237	237,000	206.0000		(48,822,000.00) Member	Sell
16:00:03	\$ / R 12/06/2015	Foreign Exchange Future	Р	11.00	1	1,000	5,450	5,450,000	206.0000		1,122,700,000.00 Client	Buy
16:00:03	\$ / R 12/06/2015	Foreign Exchange Future	Р	11.00	1	1,000	237	237,000	206.0000		48,822,000.00 Client	Buy
16:00:03	\$ / R 12/06/2015	Foreign Exchange Future	Р	11.00	1	1,000	2,163	2,163,000	206.0000		(445,578,000.00) Member	Sell
16:00:03	\$ / R 12/06/2015	Foreign Exchange Future	Р	11.00	1	1,000	92	92,000	206.0000		(18,952,000.00) Member	Sell
16:00:04	\$ / R 12/06/2015	Foreign Exchange Future	Р	11.00	1	1,000	533	533,000	206.0000		109,798,000.00 Client	Buy
16:00:04	\$ / R 12/06/2015	Foreign Exchange Future	Р	11.00	1	1,000	466	466,000	206.0000		(95,996,000.00) Member	Sell
16:00:04	\$ / R 12/06/2015	Foreign Exchange Future	Р	11.00	1	1,000	1,909	1,909,000	206.0000		393,254,000.00 Client	Buy
16:00:04	\$ / R 12/06/2015	Foreign Exchange Future	Р	11.00	1	1,000	533	533,000	206.0000		(109,798,000.00) Member	Sell
16:00:04	\$ / R 12/06/2015	Foreign Exchange Future	Р	11.00	1	1,000	466	466,000	206.0000		95,996,000.00 Client	Buy
16:00:04	\$ / R 12/06/2015	Foreign Exchange Future	Р	11.00	1	1,000	1,909	1,909,000	206.0000		(393,254,000.00) Member	Sell
16:01:32	\$ / R 12/06/2015	Foreign Exchange Future	Р	10.75	1	1,000	90	90,000	110.0000		(9,900,000.00) Client	Sell
16:01:32	\$ / R 12/06/2015	Foreign Exchange Future	Р	10.75	1	1,000	3,990	3,990,000	110.0000		438,900,000.00 Member	Buy
16:01:32	\$ / R 12/06/2015	Foreign Exchange Future	Р	10.75	1	1,000	5,696	5,696,000	110.0000		626,560,000.00 Member	Buy
16:01:32	\$ / R 12/06/2015	Foreign Exchange Future	Р	10.75	1	1,000	225	225,000	110.0000		24,750,000.00 Member	Buy

Page 11 of 17 2014/10/09, 06:08:00PM

Matched Time	Contract Details	Product	Call/ Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
16:01:32	\$ / R 12/06/2015	Foreign Exchange Future	Р	10.75	1	1,000	2,089	2,089,000	110.0000		229,790,000.00 Member	Buy
16:01:32	\$ / R 12/06/2015	Foreign Exchange Future	Р	10.75	1	1,000	466	466,000	110.0000		(51,260,000.00) Client	Sell
16:01:32	\$ / R 12/06/2015	Foreign Exchange Future	Р	10.75	1	1,000	534	534,000	110.0000		58,740,000.00 Member	Buy
16:01:32	\$ / R 12/06/2015	Foreign Exchange Future	Р	10.75	1	1,000	1,910	1,910,000	110.0000		210,100,000.00 Member	Buy
16:01:32	\$ / R 12/06/2015	Foreign Exchange Future	Р	10.75	1	1,000	466	466,000	110.0000		51,260,000.00 Member	Buy
16:01:32	\$ / R 12/06/2015	Foreign Exchange Future	Р	10.75	1	1,000	1,910	1,910,000	110.0000		(210,100,000.00) Client	Sell
16:01:32	\$ / R 12/06/2015	Foreign Exchange Future	Р	10.75	1	1,000	90	90,000	110.0000		9,900,000.00 Member	Buy
16:01:32	\$ / R 12/06/2015	Foreign Exchange Future	Р	10.75	1	1,000	534	534,000	110.0000		(58,740,000.00) Client	Sell
16:01:32	\$ / R 12/06/2015	Foreign Exchange Future	Р	10.75	1	1,000	225	225,000	110.0000		(24,750,000.00) Client	Sell
16:01:32	\$ / R 12/06/2015	Foreign Exchange Future	Р	10.75	1	1,000	5,696	5,696,000	110.0000		(626,560,000.00) Client	Sell
16:01:32	\$ / R 12/06/2015	Foreign Exchange Future	Р	10.75	1	1,000	2,089	2,089,000	110.0000		(229,790,000.00) Client	Sell
16:01:32	\$ / R 12/06/2015	Foreign Exchange Future	Р	10.75	1	1,000	3,990	3,990,000	110.0000		(438,900,000.00) Client	Sell
16:02:35	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	47	47,000	11.1477		523,941.90 Client	Buy
16:02:35	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	415	415,000	11.1477		4,626,295.50 Client	Buy
16:02:35	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	10	10,000	11.1477		111,477.00 Client	Buy
16:02:35	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	545	545,000	11.1477		6,075,496.50 Client	Buy
16:02:35	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	47	47,000	11.1477		(523,941.90) Member	Sell
16:02:35	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	24	24,000	11.1477		(267,544.80) Member	Sell
16:02:35	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	190	190,000	11.1477		(2,118,063.00) Member	Sell
16:02:35	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	10	10,000	11.1477		(111,477.00) Member	Sell
16:02:35	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	216	216,000	11.1477		(2,407,903.20) Member	Sell
16:02:35	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	216	216,000	11.1477		2,407,903.20 Client	Buy
16:02:35	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	24	24,000	11.1477		267,544.80 Client	Buy
16:02:35	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	415	415,000	11.1477		(4,626,295.50) Member	Sell
16:02:35	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	53	53,000	11.1477		(590,828.10) Member	Sell
16:02:35	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	545	545,000	11.1477		(6,075,496.50) Member	Sell
16:02:35	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	190	190,000	11.1477		2,118,063.00 Client	Buy
16:02:35	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	53	53,000	11.1477		590,828.10 Client	Buy
16:03:09	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	85	85,000	11.1480		(947,580.00) Member	Sell
16:04:10	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	10	10,000	11.1466		111,466.00 Client	Buy
16:04:10	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	10	10,000	11.1466		(111,466.00) Member	Sell
16:05:43	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	5	5,000	11.1500		55,750.00 Member	Buy
16:05:43	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	5	5,000	11.1500		(55,750.00) Client	Sell
16:13:58	\$ / R 16/03/2015	Foreign Exchange Future	Р	10.75	1	1,000	10,000	10,000,000	95.8900		958,900,000.00 Member	Buy
16:14:14	\$ / R 16/03/2015	Foreign Exchange Future	С	12.00	1	1,000	10,000	10,000,000	175.8600		(1,758,600,000.00) Member	Sell
16:14:38	\$ / R 12/06/2015	Foreign Exchange Future	Р	11.00	1	1,000	10,000	10,000,000	214.0000		(2,140,000,000.00) Member	Sell
16:15:14	\$ / R 12/06/2015	Foreign Exchange Future	С	13.00	1	1,000	10,000	10,000,000	149.6800		1,496,800,000.00 Member	Buy
16:18:14	\$ / R 12/12/2014	Foreign Exchange Future	Р	10.70	1	1,000	20,000	20,000,000	30.6600		613,200,000.00 Member	Buy
16:18:14	\$ / R 12/12/2014	Foreign Exchange Future	Р	10.81	1	1,000	6,000	6,000,000	47.8500		287,100,000.00 Member	Buy
16:23:56	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	75	75,000	11.1515		(836,362.50) Member	Sell
16:24:32	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	75	75,000	11.1575		836,812.50 Client	Buy
16:24:32	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	75	75,000	11.1575		(836,812.50) Member	Sell
16:28:44	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	40	40,000	11.1513		(446,052.00) Member	Sell

Page 12 of 17 2014/10/09, 06:08:00PM

Matched Time	Contract Details	Product	Call/ Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
16:28:44	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	40	40,000	11.1513		446,052.00 Client	Buy
16:31:31	\$ / R 16/03/2015	Foreign Exchange Future	Р	10.75	1	1,000	76	76,000	95.8900		(7,287,640.00) Client	Sell
16:31:31	\$ / R 16/03/2015	Foreign Exchange Future	Р	10.75	1	1,000	76	76,000	95.8900		7,287,640.00 Member	Buy
16:31:31	\$ / R 16/03/2015	Foreign Exchange Future	Р	10.75	1	1,000	117	117,000	95.8900		11,219,130.00 Member	Buy
16:31:31	\$ / R 16/03/2015	Foreign Exchange Future	Р	10.75	1	1,000	444	444,000	95.8900		(42,575,160.00) Client	Sell
16:31:31	\$ / R 16/03/2015	Foreign Exchange Future	Р	10.75	1	1,000	1,965	1,965,000	95.8900		(188,423,850.00) Client	Sell
16:31:31	\$ / R 16/03/2015	Foreign Exchange Future	Р	10.75	1	1,000	388	388,000	95.8900		(37,205,320.00) Client	Sell
16:31:31	\$ / R 16/03/2015	Foreign Exchange Future	Р	10.75	1	1,000	2,868	2,868,000	95.8900		275,012,520.00 Member	Buy
16:31:31	\$ / R 16/03/2015	Foreign Exchange Future	Р	10.75	1	1,000	117	117,000	95.8900		(11,219,130.00) Client	Sell
16:31:31	\$ / R 16/03/2015	Foreign Exchange Future	Р	10.75	1	1,000	1,050	1,050,000	95.8900		(100,684,500.00) Client	Sell
16:31:31	\$ / R 16/03/2015	Foreign Exchange Future	Р	10.75	1	1,000	1,592	1,592,000	95.8900		(152,656,880.00) Client	Sell
16:31:31	\$ / R 16/03/2015	Foreign Exchange Future	Р	10.75	1	1,000	444	444,000	95.8900		42,575,160.00 Member	Buy
16:31:31	\$ / R 16/03/2015	Foreign Exchange Future	Р	10.75	1	1,000	1,592	1,592,000	95.8900		152,656,880.00 Member	Buy
16:31:31	\$ / R 16/03/2015	Foreign Exchange Future	Р	10.75	1	1,000	1,050	1,050,000	95.8900		100,684,500.00 Member	Buy
16:31:31	\$ / R 16/03/2015	Foreign Exchange Future	Р	10.75	1	1,000	1,500	1,500,000	95.8900		143,835,000.00 Member	Buy
16:31:31	\$ / R 16/03/2015	Foreign Exchange Future	Р	10.75	1	1,000	1,500	1,500,000	95.8900		(143,835,000.00) Client	Sell
16:31:31	\$ / R 16/03/2015	Foreign Exchange Future	Р	10.75	1	1,000	1,965	1,965,000	95.8900		188,423,850.00 Member	Buy
16:31:31	\$ / R 16/03/2015	Foreign Exchange Future	Р	10.75	1	1,000	388	388,000	95.8900		37,205,320.00 Member	Buy
16:31:31	\$ / R 16/03/2015	Foreign Exchange Future	Р	10.75	1	1,000	2,868	2,868,000	95.8900		(275,012,520.00) Client	Sell
16:32:45	\$ / R 12/06/2015	Foreign Exchange Future	С	13.00	1	1,000	77	77,000	149.6800		11,525,360.00 Member	Buy
16:32:45	\$ / R 12/06/2015	Foreign Exchange Future	С	13.00	1	1,000	2,074	2,074,000	149.6800		310,436,320.00 Member	Buy
16:32:45	\$ / R 12/06/2015	Foreign Exchange Future	С	13.00	1	1,000	2,725	2,725,000	149.6800		407,878,000.00 Member	Buy
16:32:45	\$ / R 12/06/2015	Foreign Exchange Future	С	13.00	1	1,000	1,082	1,082,000	149.6800		161,953,760.00 Member	Buy
16:32:45	\$ / R 12/06/2015	Foreign Exchange Future	С	13.00	1	1,000	388	388,000	149.6800		58,075,840.00 Member	Buy
16:32:45	\$ / R 12/06/2015	Foreign Exchange Future	С	13.00	1	1,000	77	77,000	149.6800		(11,525,360.00) Client	Sell
16:32:45	\$ / R 12/06/2015	Foreign Exchange Future	С	13.00	1	1,000	1,591	1,591,000	149.6800		238,140,880.00 Member	Buy
16:32:45	\$ / R 12/06/2015	Foreign Exchange Future	С	13.00	1	1,000	388	388,000	149.6800		(58,075,840.00) Client	Sell
16:32:45	\$ / R 12/06/2015	Foreign Exchange Future	С	13.00	1	1,000	1,500	1,500,000	149.6800		(224,520,000.00) Client	Sell
16:32:45	\$ / R 12/06/2015	Foreign Exchange Future	С	13.00	1	1,000	2,074	2,074,000	149.6800		(310,436,320.00) Client	Sell
16:32:45	\$ / R 12/06/2015	Foreign Exchange Future	С	13.00	1	1,000	119	119,000	149.6800		(17,811,920.00) Client	Sell
16:32:45	\$ / R 12/06/2015	Foreign Exchange Future	С	13.00	1	1,000	1,082	1,082,000	149.6800		(161,953,760.00) Client	Sell
16:32:45	\$ / R 12/06/2015	Foreign Exchange Future	С	13.00	1	1,000	1,500	1,500,000	149.6800		224,520,000.00 Member	Buy
16:32:45	\$ / R 12/06/2015	Foreign Exchange Future	С	13.00	1	1,000	444	444,000	149.6800		(66,457,920.00) Client	Sell
16:32:45	\$ / R 12/06/2015	Foreign Exchange Future	С	13.00	1	1,000	1,591	1,591,000	149.6800		(238,140,880.00) Client	Sell
16:32:45	\$ / R 12/06/2015	Foreign Exchange Future	С	13.00	1	1,000	444	444,000	149.6800		66,457,920.00 Member	Buy
16:32:45	\$ / R 12/06/2015	Foreign Exchange Future	С	13.00	1	1,000	2,725	2,725,000	149.6800		(407,878,000.00) Client	Sell
16:32:45	\$ / R 12/06/2015	Foreign Exchange Future	С	13.00	1	1,000	119	119,000	149.6800		17,811,920.00 Member	Buy
16:33:52	\$ / R 16/03/2015	Foreign Exchange Future	С	12.00	1	1,000	1,500	1,500,000	175.8600		(263,790,000.00) Member	Sell
16:33:52	\$ / R 16/03/2015	Foreign Exchange Future	С	12.00	1	1,000	117	117,000	175.8600		20,575,620.00 Client	Buy
16:33:52	\$ / R 16/03/2015	Foreign Exchange Future	С	12.00	1	1,000	76	76,000	175.8600		(13,365,360.00) Member	Sell
16:33:52	\$ / R 16/03/2015	Foreign Exchange Future	С	12.00	1	1,000	1,050	1,050,000	175.8600		184,653,000.00 Client	Buy
16:33:52	\$ / R 16/03/2015	Foreign Exchange Future	С	12.00	1	1,000	1,050	1,050,000	175.8600		(184,653,000.00) Member	Sell
16:33:52	\$ / R 16/03/2015	Foreign Exchange Future	С	12.00	1	1,000	1,592	1,592,000	175.8600		279,969,120.00 Client	Buy

Page 13 of 17 2014/10/09, 06:08:00PM

Matched Time	Contract Details	Product	Call/ Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
						· · · · · · · · · · · · · · · · · · ·		110111111		- 11010	.,,,,	
16:33:52	\$ / R 16/03/2015	Foreign Exchange Future	С	12.00	1	1,000	444	444,000	175.8600		(78,081,840.00) Member	Sell
16:33:52	\$ / R 16/03/2015	Foreign Exchange Future	С	12.00	1	1,000	388	388,000	175.8600		(68,233,680.00) Member	Sell
16:33:52	\$ / R 16/03/2015	Foreign Exchange Future	С	12.00	1	1,000	1,500	1,500,000	175.8600		263,790,000.00 Client	Buy
16:33:52	\$ / R 16/03/2015	Foreign Exchange Future	С	12.00	1	1,000	1,965	1,965,000	175.8600		(345,564,900.00) Member	Sell
16:33:52	\$ / R 16/03/2015	Foreign Exchange Future	С	12.00	1	1,000	1,592	1,592,000	175.8600		(279,969,120.00) Member	Sell
16:33:52	\$ / R 16/03/2015	Foreign Exchange Future	С	12.00	1	1,000	2,868	2,868,000	175.8600		(504,366,480.00) Member	Sell
16:33:52	\$ / R 16/03/2015	Foreign Exchange Future	С	12.00	1	1,000	388	388,000	175.8600		68,233,680.00 Client	Buy
16:33:52	\$ / R 16/03/2015	Foreign Exchange Future	С	12.00	1	1,000	444	444,000	175.8600		78,081,840.00 Client	Buy
16:33:52	\$ / R 16/03/2015	Foreign Exchange Future	С	12.00	1	1,000	1,965	1,965,000	175.8600		345,564,900.00 Client	Buy
16:33:52	\$ / R 16/03/2015	Foreign Exchange Future	С	12.00	1	1,000	76	76,000	175.8600		13,365,360.00 Client	Buy
16:33:52	\$ / R 16/03/2015	Foreign Exchange Future	С	12.00	1	1,000	2,868	2,868,000	175.8600		504,366,480.00 Client	Buy
16:33:52	\$ / R 16/03/2015	Foreign Exchange Future	С	12.00	1	1,000	117	117,000	175.8600		(20,575,620.00) Member	Sell
16:35:59	\$ / R 12/06/2015	Foreign Exchange Future	Р	11.00	1	1,000	1,500	1,500,000	214.0000		(321,000,000.00) Member	Sell
16:35:59	\$ / R 12/06/2015	Foreign Exchange Future	Р	11.00	1	1,000	1,500	1,500,000	214.0000		321,000,000.00 Client	Buy
16:36:00	\$ / R 12/06/2015	Foreign Exchange Future	Р	11.00	1	1,000	2,074	2,074,000	214.0000		443,836,000.00 Client	Buy
16:36:00	\$ / R 12/06/2015	Foreign Exchange Future	Р	11.00	1	1,000	388	388,000	214.0000		(83,032,000.00) Member	Sell
16:36:00	\$ / R 12/06/2015	Foreign Exchange Future	Р	11.00	1	1,000	388	388,000	214.0000		83,032,000.00 Client	Buy
16:36:00	\$ / R 12/06/2015	Foreign Exchange Future	Р	11.00	1	1,000	1,591	1,591,000	214.0000		340,474,000.00 Client	Buy
16:36:00	\$ / R 12/06/2015	Foreign Exchange Future	Р	11.00	1	1,000	77	77,000	214.0000		(16,478,000.00) Member	Sell
16:36:00	\$ / R 12/06/2015	Foreign Exchange Future	Р	11.00	1	1,000	119	119,000	214.0000		25,466,000.00 Client	Buy
16:36:00	\$ / R 12/06/2015	Foreign Exchange Future	Р	11.00	1	1,000	2,725	2,725,000	214.0000		583,150,000.00 Client	Buy
16:36:00	\$ / R 12/06/2015	Foreign Exchange Future	Р	11.00	1	1,000	1,082	1,082,000	214.0000		231,548,000.00 Client	Buy
16:36:00	\$ / R 12/06/2015	Foreign Exchange Future	Р	11.00	1	1,000	444	444,000	214.0000		95,016,000.00 Client	Buy
16:36:00	\$ / R 12/06/2015	Foreign Exchange Future	Р	11.00	1	1,000	2,074	2,074,000	214.0000		(443,836,000.00) Member	Sell
16:36:00	\$ / R 12/06/2015	Foreign Exchange Future	Р	11.00	1	1,000	2,725	2,725,000	214.0000		(583,150,000.00) Member	Sell
16:36:00	\$ / R 12/06/2015	Foreign Exchange Future	P	11.00	1	1,000	1,591	1,591,000	214.0000		(340,474,000.00) Member	Sell
16:36:00	\$ / R 12/06/2015	Foreign Exchange Future	Р	11.00	1	1,000	1,082	1,082,000	214.0000		(231,548,000.00) Member	Sell
16:36:00	\$ / R 12/06/2015	Foreign Exchange Future	P	11.00	1	1,000	444	444,000	214.0000		(95,016,000.00) Member	Sell
16:36:00	\$ / R 12/06/2015	Foreign Exchange Future	Р	11.00	1	1,000	119	119,000	214.0000		(25,466,000.00) Member	Sell
16:36:00	\$ / R 12/06/2015	Foreign Exchange Future	Р	11.00	1	1,000	77	77,000	214.0000		16,478,000.00 Client	Buy
16:40:04	\$ / R 12/12/2014	Foreign Exchange Future	•	0.00	1	1,000	10,000	10,000,000	11.1475		111,475,000.00 Client	Buy
16:40:04	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	10,000	10,000,000	11.1475		(111,475,000.00) Member	Sell
16:42:10	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	100	100,000	11.1666		1,116,660.00 Member	Buy
16:53:23	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	111	111,000	11.1111		(1,233,332.10) Member	Sell
16:53:23	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	111	111,000	11.1111		1,233,332.10 Client	Buy
16:53:32	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	106	106,000	11.1652		1,183,511.20 Member	Buy
16:53:32	\$ / R 12/12/2014 \$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	106	106,000	11.1652		(1,183,511.20) Client	Sell
16:57:57	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	2	2,000	11.1770		22,354.00 Client	Buy
16:57:57	\$ / R 12/12/2014 \$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	2	2,000	11.1770		(22,354.00) Member	Sell
17:08:57	\$ / R 12/12/2014 \$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	11.1770		(11,137,400.00) Member	Sell
17:08:57	\$ / R 12/12/2014 \$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	75	75,000	11.1374		835,305.00 Client	Buy
	\$ / R 12/12/2014 \$ / R 12/12/2014	-			1		75 75	75,000 75,000	11.1374			
17:08:57		Foreign Exchange Future		0.00		1,000					(835,305.00) Member	Sell
17:08:57	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	9,225	9,225,000	11.1374		102,742,515.00 Client	Buy

Page 14 of 17 2014/10/09, 06:08:00PM

Matched Time	Contract Details	Product	Call/ Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
17:08:57	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	4,000	4,000,000	11.1374		(44,549,600.00) Member	Sell
17:08:57	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	9,225	9,225,000	11.1374		(102,742,515.00) Member	Sell
17:08:57	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	4,000	4,000,000	11.1374		44,549,600.00 Client	Buy
17:08:57	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	11.1374		11,137,400.00 Client	Buy
17:15:48	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	700	700,000	11.1374		7,796,180.00 Client	Buy
17:15:48	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	700	700,000	11.1374		(7,796,180.00) Member	Sell
17:21:06	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	33	33,000	11.1415		367,669.50 Client	Buy
17:21:06	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	33	33,000	11.1415		(367,669.50) Member	Sell
17:21:53	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	1,590	1,590,000	11.2280		(17,852,520.00) Member	Sell
17:21:53	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	15,900	15,900,000	11.1830		177,809,700.00 Client	Buy
17:21:53	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	14,310	14,310,000	11.1780		(159,957,180.00) Member	Sell
17:22:42	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	165	165,000	11.2280		(1,852,620.00) Member	Sell
17:22:42	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	1,650	1,650,000	11.1830		18,451,950.00 Client	Buy
17:22:42	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	1,485	1,485,000	11.1780		(16,599,330.00) Member	Sell
17:23:29	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	750	750,000	11.1830		8,387,250.00 Client	Buy
17:23:29	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	75	75,000	11.2280		(842,100.00) Member	Sell
17:23:29	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	675	675,000	11.1780		(7,545,150.00) Member	Sell
17:23:45	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	630	630,000	11.1780		(7,042,140.00) Member	Sell
17:23:45	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	700	700,000	11.1830		7,828,100.00 Client	Buy
17:23:45	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	70	70,000	11.2280		(785,960.00) Member	Sell
17:27:39	\$ / R 12/12/2014	Foreign Exchange Future	Р	10.70	1	1,000	10,000	10,000,000	28.6600		286,600,000.00 Member	Buy
17:27:39	\$ / R 12/12/2014	Foreign Exchange Future	Р	10.70	1	1,000	10,000	10,000,000	28.6600		(286,600,000.00) Client	Sell
17:30:02	\$ / R 12/12/2014	Foreign Exchange Future	Р	10.70	1	1,000	10,000	10,000,000	28.6600		286,600,000.00 Member	Buy
17:30:02	\$ / R 12/12/2014	Foreign Exchange Future	Р	10.70	1	1,000	10,000	10,000,000	28.6600		(286,600,000.00) Client	Sell
17:30:15	\$ / R 12/12/2014	Foreign Exchange Future	Р	10.81	1	1,000	6,000	6,000,000	45.8400		275,040,000.00 Member	Buy
17:30:15	\$ / R 12/12/2014	Foreign Exchange Future	Р	10.81	1	1,000	6,000	6,000,000	45.8400		(275,040,000.00) Client	Sell
Total Futu	ires				222		125,752	125,752,000			1 407 009 500.65	
Total Opti	ons				80		218,250	218,250,000			31 937 110 000.00	
Total for \$	6 / R Foreign Exchange	Future			302		344,002	344,002,000			33,344,119,500.65	
9:03:24	\$ / R MAXI 12/12/2014	•		0.00	1	100,000	10	1,000,000	11.1629		(11,162,900.00) Member	Sell
9:03:24	\$ / R MAXI 12/12/2014	Foreign Exchange Future		0.00	1	100,000	10	1,000,000	11.1629		11,162,900.00 Member	Buy
11:11:29	\$ / R MAXI 12/12/2014	•		0.00	1	100,000	5	500,000	11.1381		(5,569,050.00) Member	Sell
11:11:29	\$ / R MAXI 12/12/2014	Foreign Exchange Future		0.00	1	100,000	5	500,000	11.1381		5,569,050.00 Member	Buy
12:37:57	\$ / R MAXI 12/12/2014	Foreign Exchange Future		0.00	1	100,000	1	100,000	11.1000		(1,110,000.00) Member	Sell
12:37:57	\$ / R MAXI 12/12/2014	Foreign Exchange Future		0.00	1	100,000	1	100,000	11.1000		1,110,000.00 Client	Buy
13:08:02	\$ / R MAXI 12/12/2014	Foreign Exchange Future		0.00	1	100,000	1	100,000	11.0900		(1,109,000.00) Member	Sell
13:08:02	\$ / R MAXI 12/12/2014	Foreign Exchange Future		0.00	1	100,000	1	100,000	11.0900		1,109,000.00 Client	Buy
13:43:29	\$ / R MAXI 12/12/2014	Foreign Exchange Future		0.00	1	100,000	4	400,000	11.0988		(4,439,520.00) Member	Sell
13:43:29	\$ / R MAXI 12/12/2014	Foreign Exchange Future		0.00	1	100,000	4	400,000	11.0988		4,439,520.00 Member	Buy

Page 15 of 17 2014/10/09, 06:08:00PM

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
Total Futu	ıres			5		21	2,100,000			23 390 470.00	
Total Opti	ons										
Total for \$	/ R MAXI Foreign Ex	change Future		5		21	2,100,000			23,390,470.00	
9:16:52	£ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	15	15,000	18.0797		(271,195.50) Member	Sell
9:16:52	£ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	15	15,000	18.0797		271,195.50 Client	Buy
9:43:11	£ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	5	5,000	18.0291		(90,145.50) Member	Sell
9:43:11	£ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	5	5,000	18.0291		90,145.50 Client	Buy
11:39:05	£ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	5	5,000	18.0122		(90,061.00) Member	Sell
11:39:05	£ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	5	5,000	18.0122		90,061.00 Client	Buy
11:39:35	£ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	4	4,000	18.0084		(72,033.60) Member	Sell
11:39:35	£ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	4	4,000	18.0084		72,033.60 Client	Buy
12:21:44	£ / R 12/06/2015	Foreign Exchange Future	0.00	1	1,000	25	25,000	18.5693		(464,232.50) Member	Sell
12:22:07	£ / R 12/06/2015	Foreign Exchange Future	0.00	1	1,000	25	25,000	18.5693		464,232.50 Client	Buy
12:22:07	£ / R 12/06/2015	Foreign Exchange Future	0.00	1	1,000	25	25,000	18.5693		(464,232.50) Member	Sell
15:48:00	£ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	75	75,000	18.0465		1,353,487.50 Client	Buy
15:48:00	£/R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	75	75,000	18.0465		(1,353,487.50) Member	Sell
Total Futu	otal Futures			7		142	141,500			2 573 271.85	
Total Opti	ons										
Total for £	/ R Foreign Exchang	ge Future		7		142	141,500			2,573,271.85	
8:45:55	€ / R 16/03/2015	Foreign Exchange Future	0.00	1	1,000	60	60,000	14.5000		(870,000.00) Member	Sell
8:45:55	€ / R 16/03/2015	Foreign Exchange Future	0.00	1	1,000	60	60,000	14.5000		870,000.00 Client	Buy
9:41:38	€ / R 16/03/2015	Foreign Exchange Future	0.00	1	1,000	37	37,000	14.4844		(535,922.80) Client	Sell
9:41:38	€ / R 16/03/2015	Foreign Exchange Future	0.00	1	1,000	37	37,000	14.4844		535,922.80 Member	Buy
9:42:37	€ / R 16/03/2015	Foreign Exchange Future	0.00	1	1,000	37	37,000	14.4890		536,093.00 Member	Buy
9:42:37	€ / R 16/03/2015	Foreign Exchange Future	0.00	1	1,000	37	37,000	14.4890		(536,093.00) Member	Sell
10:44:39	€ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	57	57,000	14.2395		(811,651.50) Member	Sell
			0.00	1	1,000	57	57,000	14.2495		(812,221.50) Member	Sell
10:45:24	€ / R 12/12/2014	Foreign Exchange Future	0.00		.,	51	37,000				
	€ / R 12/12/2014 € / R 12/12/2014	Foreign Exchange Future Foreign Exchange Future	0.00		1,000	57	57,000 57,000	14.2495		812,221.50 Client	Buy
10:45:24		-		1				14.2495 14.2216		812,221.50 Client 71,108.00 Client	Buy Buy
10:45:24 11:23:47	€ / R 12/12/2014	Foreign Exchange Future	0.00	1 1	1,000	57	57,000				
10:45:24 11:23:47 11:23:47	€ / R 12/12/2014 € / R 12/12/2014	Foreign Exchange Future Foreign Exchange Future	0.00 0.00	1 1 1	1,000 1,000	57 5	57,000 5,000 5,000	14.2216		71,108.00 Client	Buy
10:45:24 11:23:47 11:23:47 11:34:44	€ / R 12/12/2014 € / R 12/12/2014 € / R 12/12/2014	Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future	0.00 0.00 0.00	1 1 1 1	1,000 1,000 1,000	57 5 5	57,000 5,000	14.2216 14.2216		71,108.00 Client (71,108.00) Member	Buy Sell
10:45:24 11:23:47 11:23:47 11:34:44 11:34:44	€ / R 12/12/2014 € / R 12/12/2014 € / R 12/12/2014 € / R 16/03/2015	Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future	0.00 0.00 0.00 0.00	1 1 1 1	1,000 1,000 1,000 1,000	57 5 5 50	57,000 5,000 5,000 50,000	14.2216 14.2216 14.4500		71,108.00 Client (71,108.00) Member (722,500.00) Member	Buy Sell Sell
10:45:24 11:23:47 11:23:47 11:34:44 11:34:44 11:39:11	€ / R 12/12/2014 € / R 12/12/2014 € / R 12/12/2014 € / R 16/03/2015 € / R 16/03/2015	Foreign Exchange Future	0.00 0.00 0.00 0.00 0.00	1 1 1 1 1	1,000 1,000 1,000 1,000 1,000	57 5 5 50 50	57,000 5,000 5,000 50,000 50,000	14.2216 14.2216 14.4500 14.4500		71,108.00 Client (71,108.00) Member (722,500.00) Member 722,500.00 Client	Buy Sell Sell Buy
10:45:24 11:23:47 11:23:47 11:34:44 11:34:44 11:39:11 11:39:11	€ / R 12/12/2014 € / R 12/12/2014 € / R 12/12/2014 € / R 16/03/2015 € / R 16/03/2015 € / R 12/12/2014	Foreign Exchange Future	0.00 0.00 0.00 0.00 0.00	1 1 1 1 1 1	1,000 1,000 1,000 1,000 1,000	57 5 5 50 50 5	57,000 5,000 5,000 50,000 50,000 5,000	14.2216 14.2216 14.4500 14.4500 14.1988		71,108.00 Client (71,108.00) Member (722,500.00) Member 722,500.00 Client (70,994.00) Member	Buy Sell Sell Buy Sell
10:45:24 10:45:24 11:23:47 11:23:47 11:34:44 11:34:44 11:39:11 11:39:11 12:51:24 12:51:24	€ / R 12/12/2014 € / R 12/12/2014 € / R 12/12/2014 € / R 16/03/2015 € / R 16/03/2015 € / R 12/12/2014 € / R 12/12/2014	Foreign Exchange Future	0.00 0.00 0.00 0.00 0.00 0.00	1 1 1 1 1 1	1,000 1,000 1,000 1,000 1,000 1,000	57 5 5 50 50 5 5	57,000 5,000 5,000 50,000 50,000 5,000	14.2216 14.2216 14.4500 14.4500 14.1988 14.1988		71,108.00 Client (71,108.00) Member (722,500.00) Member 722,500.00 Client (70,994.00) Member 70,994.00 Client (878,447.00) Client	Buy Sell Sell Buy Sell Buy Sell
10:45:24 11:23:47 11:23:47 11:34:44 11:34:44 11:39:11 11:39:11 12:51:24	€ / R 12/12/2014 € / R 12/12/2014 € / R 12/12/2014 € / R 16/03/2015 € / R 16/03/2015 € / R 12/12/2014 € / R 12/12/2014 € / R 12/12/2014	Foreign Exchange Future	0.00 0.00 0.00 0.00 0.00 0.00 0.00	1 1 1 1 1 1 1	1,000 1,000 1,000 1,000 1,000 1,000 1,000	57 5 5 50 50 5 5 5	57,000 5,000 5,000 50,000 50,000 5,000 5,000 62,000	14.2216 14.2216 14.4500 14.4500 14.1988 14.1988 14.1685		71,108.00 Client (71,108.00) Member (722,500.00) Member 722,500.00 Client (70,994.00) Member 70,994.00 Client	Buy Sell Sell Buy Sell Buy

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
Total Futu	ıres			10		585	584,500			8 347 151.05	
Total Opti	ons										
Total for € / R Foreign Exchange Future			10		585	584,500			8,347,151.05		
11:47:52	AU\$ / R 12/12/2014	Foreign Exchange Future	0	.00 1	1,000	250	250,000	9.8231		2,455,775.00 Member	Buy
11:47:52	AU\$ / R 12/12/2014	Foreign Exchange Future	0	.00 1	1,000	250	250,000	9.8231		(2,455,775.00) Member	Sell
12:24:20	AU\$ / R 12/12/2014	Foreign Exchange Future	0	.00 1	1,000	1	1,000	9.8114		9,811.40 Member	Buy
12:24:20	AU\$ / R 12/12/2014	Foreign Exchange Future	0	.00 1	1,000	1	1,000	9.8114		(9,811.40) Client	Sell
Total Futu	ires			2		251	251,000			2 465 586.40	
Total Opti	ons										
Total for A	AU\$ / R Foreign Excha	inge Future		2		251	251,000			2,465,586.40	
Total Futu	ires			245		126,750	128,829,000		1	443 785 979.95	
Total Opti	ons		80		218,250		218,250,000	31 937 110 000.00			
Grand To	otal for all Instrume	nts		325		345,000	45,000 347,079,000 33,380,895,97			3,380,895,979.95	